# NON TRIVIAL INTEGRAL SOLUTIONS OF TERNARY QUADRATIC DIOPHANTINE EQUATION 

MANJU SOMANATH ${ }^{1}$, K. RAJA ${ }^{2}$, J. KANNAN ${ }^{3}$ and B. JEYASHREE ${ }^{4}$

1,2PG and Research<br>Department of Mathematics<br>National College<br>(Autonomous, Affiliated to Bharathidasan University)<br>Trichy 620 001, India<br>3,4Department of Mathematics<br>Ayya Nadar Janaki Ammal College<br>(Autonomous, Affiliated to Madurai Kamaraj University)<br>Sivakasi, India<br>E-mail: jayram.kannan@gmail.com<br>jeyashree1397@gmail.com


#### Abstract

The ternary homogeneous equation instead of an infinite cone given by $x^{2}+y^{2}-6 x+10 y=34\left(z^{2}-1\right)$ is analyzed for its non-zero distinctive integer points. Few dissimilar patterns of integer points satisfying the infinite cone under deliberation are obtained.


## I. Introduction

An enormous compact of also arises from the revise of the solutions in integers of a polynomial equation $f\left(x_{1}, x_{2}, \ldots, x_{n}\right)=0$, called the Diophantine equation. They have slighter number equations than indefinite variables and grip integers that work properly for all equations. Quadratic Diophantine equationsare awfully significant in number theory. There are more than a few Diophantine equationsthat have no solutions, trivial solutions, finitely or infinitely several solutions.

In this manuscript concerns with fascinating ternary quadratic equation

2010 Mathematics Subject Classification: 11D09, 11D99.
Keywords: Diophantine equation, integral solution, infinite cone, linear transformation, lattice points.
Received January 1, 2020; Accepted May 5, 2020
$x^{2}+y^{2}-6 x+10 y=34\left(z^{2}-1\right), x, y, z, \in Z-\{0\}$ representing an infinite cone for determining its infinitely many non-zero lattice points.

## II. Method of Analysis

The ternary quadratic Diophantine equation studied for its non-zero distinct integer solutions is given by

$$
\begin{gather*}
x^{2}+y^{2}-6 x+10 y=34\left(z^{2}-1\right) \\
x^{2}-6 x+9+y^{2}+10 y+25=34 z^{2} \\
(x-3)^{2}+(y+5)^{2}=34 z^{2} . \tag{1}
\end{gather*}
$$

Take $\alpha=x-3, \beta=y+5$.

$$
\begin{equation*}
\alpha^{2}+\beta^{2}=34 z^{2} \tag{2}
\end{equation*}
$$

However, we have supplementary patterns of solutions which are illustrated as follows:

Pattern 1. Let $\alpha=3 u+5 v$ and $\beta=5 u-3 v$. Then $34\left(u^{2}+v^{2}\right)=34 z^{2}$ and the equation (2) becomes $u^{2}+v^{2}=z^{2}$.

We obtain $u=k\left(m^{2}-n^{2}\right), v=2 k m n, z=k\left(m^{2}+n^{2}\right)$, for some integers $k, m$ and $n$ with $m>n$, hence the solution is

$$
\begin{gathered}
x=k\left(3 m^{2}-3 n^{2}+10 m n\right)+3 \\
y=k\left(5 m^{2}-5 n^{2}-6 m n\right)-5 \\
z=k\left(m^{2}+n^{2}\right) .
\end{gathered}
$$

Pattern 2. Let $\alpha=3 u-5 v$ and $\beta=5 u+3 v$. Then $34\left(u^{2}+v^{2}\right)=34 z^{2}$ and the equation (2) becomes $u^{2}+v^{2}=z^{2}$.

We obtain $u=k\left(m^{2}-n^{2}\right), v=2 k m n, z=k\left(m^{2}+n^{2}\right)$, for some integers $k, m$ and $n$ with $m>n$, therefore the solution is

$$
x=k\left(3 m^{2}-3 n^{2}-10 m n\right)+3
$$

$$
\begin{gathered}
y=k\left(5 m^{2}-5 n^{2}+6 m n\right)-5 \\
z=k\left(m^{2}+n^{2}\right) .
\end{gathered}
$$

Pattern 3. Assume

$$
\begin{equation*}
z=z(a, b)=a^{2}+b^{2}, \text { where } a, b>0 \tag{3}
\end{equation*}
$$

and write

$$
\begin{equation*}
34=3^{2}+5^{2} \text { as } 3^{2}+5^{2}=(3+5 i)(3-5 i) . \tag{4}
\end{equation*}
$$

Substituting (3) and (4) in (2) and employing the development of factorization, Write

$$
\alpha+i \beta=(3+5 i)(\alpha+i b)^{2} .
$$

Equating the real and imaginary parts in the on top of equation, we acquire

$$
\begin{gathered}
\alpha=3\left(a^{2}-b^{2}\right)-10 a b \\
\beta=5\left(a^{2}-b^{2}\right)+6 a b, \text { here } a>b \text { and } a, b \in Z-\{0\} .
\end{gathered}
$$

Hence the solution is

$$
\begin{aligned}
& x=3\left(a^{2}-b^{2}\right)-10 a b+3 \\
& y=5\left(a^{2}-b^{2}\right)+6 a b-5 .
\end{aligned}
$$

Pattern 4. We can also write

$$
\begin{equation*}
34=3^{2}+5^{2} \text { as } 3^{2}+5^{2}=(5+3 i)(5-3 i) . \tag{5}
\end{equation*}
$$

Substituting (3) and (5) in (1) and employing the technique of factorization, write $\alpha+i \beta=(5+3 i)(\alpha+i b)^{2}$.

Equating the real and imaginary parts in the on top of equation, we get

$$
\begin{aligned}
& x=5\left(a^{2}-b^{2}\right)-6 a b+3 \\
& y=3\left(a^{2}-b^{2}\right)+10 a b-5
\end{aligned}
$$

$$
z=a^{2}+b^{2}
$$

which represents the dissimilar integer points on the cone (1).
Pattern 5. Equation (4) can also be written in the subsequent technique:

$$
34=3^{2}+5^{2}=(-3+5 i)(-3-5 i)
$$

Proceeding as above, we get

$$
\begin{gathered}
x=-3\left(a^{2}-b^{2}\right)-10 a b+3 \\
y=5\left(a^{2}-b^{2}\right)-6 a b-5 \\
z=a^{2}+b^{2}, a^{2}>b^{2} \text { and } a, b \in Z-\{0\} .
\end{gathered}
$$

Pattern 6. Equation (4) can also be written in the subsequent technique:

$$
34=3^{2}+5^{2}=(-5+3 i)(-5-3 i)
$$

Proceeding as on top of, we get

$$
\begin{gathered}
x=-5\left(a^{2}-b^{2}\right)-6 a b+3 \\
y=3\left(a^{2}-b^{2}\right)-10 a b-5 \\
z=a^{2}+b^{2}, a^{2}>b^{2} \text { and } a, b \in Z-\{0\} .
\end{gathered}
$$

Pattern 7. Equation (1) can be written as

$$
\begin{equation*}
\frac{\alpha+3 z}{5 z+\beta}=\frac{5 z-\beta}{\alpha-3 z}=\frac{p}{q},(\text { say }), q \neq 0 \tag{6}
\end{equation*}
$$

This equation is equal to the following two equations:

$$
\begin{aligned}
& q \alpha-p \beta+(3 q-5 p) z=0 \\
& p \alpha+q \beta-(3 p+5 q) z=0
\end{aligned}
$$

By the system of cross multiplication, we get the integral solutions of (1) to be

$$
\begin{gathered}
x=3 p^{2}+2 q^{2}+5 p q+3 \\
y=-5 p^{2}+5 q^{2}+6 p q-5
\end{gathered}
$$

$$
z=p^{2}+q^{2} .
$$

Pattern 8. Equation (1) can be written as

$$
\frac{5 z+\beta}{\alpha+3 z}=\frac{\alpha-3 z}{5 z-\beta}=\frac{p}{q},(s a y), q \neq 0 .
$$

This equation is consequent to the following two equations:

$$
\begin{aligned}
& p \alpha-q \beta+(3 p-5 q) z=0 \\
& q \alpha+p \beta-(3 q+5 p) z=0
\end{aligned}
$$

By the way of cross multiplication, we get the integral points of (1) to be

$$
\begin{gathered}
x=q(3 q+5 p)-p(3 p-5 q)+3 \\
y=p(3 q+5 p)+q(3 p-5 q)-5 \\
z=p^{2}+q^{2} .
\end{gathered}
$$

Note 1. Equation (2) can be written as

$$
\frac{\alpha-3 z}{5 z+\beta}=\frac{5 z-\beta}{\alpha+3 z}=\frac{p}{q},(s a y), q \neq 0 .
$$

Proceeding as on top of, we get

$$
\begin{gathered}
x=-p(3 p-5 q)+q(3 q+5 p)+3 \\
y=-p(3 q+5 p)-q(3 p-5 q)-5 \\
z=q^{2}+p^{2} .
\end{gathered}
$$

Note 2. Applying the above technique to the case,

$$
\frac{\alpha-3 z}{5 z-\beta}=\frac{5 z+\beta}{\alpha+3 z}=\frac{p}{q} \text {, (say), } q \neq 0
$$

we get hold of the solution of (1) as

$$
\begin{gathered}
x=p(3 p-5 q)-q(3 q+5 p)+3 \\
y=-p(3 q+5 p)-q(3 p-5 q)-5
\end{gathered}
$$

$$
z=-q^{2}-p^{2} .
$$

Pattern 9. Equation (2) can be written as

$$
\begin{equation*}
\left(3^{2}+5^{2}\right) z^{2}-\beta^{2}=a^{2} * 1 \tag{7}
\end{equation*}
$$

Assume

$$
\begin{equation*}
\alpha=\left(3^{2}+5^{2}\right) a^{2}-b^{2}, \text { where } a, b>0 \tag{8}
\end{equation*}
$$

Write 1 as

$$
\begin{equation*}
1=\frac{\left(\sqrt{\left(3^{2}+5^{2}\right)}+3\right)\left(\sqrt{\left(3^{2}+5^{2}\right)}-3\right)}{5^{2}} \tag{9}
\end{equation*}
$$

Using (8) and (9) in (7) and applying the manner of factorization,

$$
\sqrt{\left(3^{2}+5^{2}\right)} z+\beta=\frac{\left(\sqrt{\left(3^{2}+5^{2}\right)} a+b\right)^{2}\left(\sqrt{\left(3^{2}+5^{2}\right)}+3\right)}{5} .
$$

Equating the rational and irrational factors, we get hold of

$$
\begin{gathered}
x=\left(3^{2}+5^{2}\right) a^{2}-b^{2}+3 \\
y=\frac{1}{5}\left[3\left(\left(3^{2}+5^{2}\right) a^{2}+b^{2}\right)+2\left(3^{2}+5^{2}\right) a b\right]-5 \\
z=\frac{1}{5}\left[\left(3^{2}+5^{2}\right) a^{2}+b^{2}+6 a b\right] .
\end{gathered}
$$

Because our concentration centers on decision integral solutions, substitute $a$ by $5 A$ and $b$ by $5 B$ in the on top of equations. Consequently the equivalent solutions to (1) are given by

$$
\begin{gathered}
x=5^{2}\left[\left(3^{2}+5^{2}\right) A^{2}-B^{2}\right]+3 \\
y=5\left[3\left(34 A^{2}+B^{2}\right)-2(34) A B\right]-5 \\
z=5\left[(34) A^{2}+B+6 A B\right] .
\end{gathered}
$$

Note 3. Equation (9) can be written as

$$
1=\frac{\left(-\sqrt{\left(3^{2}+5^{2}\right)}+3\right)\left(-\sqrt{\left(3^{2}+5^{2}\right)}-3\right)}{5^{2}}
$$

Proceeding as beyond, we get hold of

$$
\begin{gathered}
x=5^{2}\left[(34) A^{2}-B^{2}\right]+3 \\
y=5\left[3\left((34) A^{2}+B^{2}\right)-2\left(3^{2}+5^{2}\right) A B\right]-5 \\
z=5\left[6 A B-(34) A^{2}-B^{2}\right] .
\end{gathered}
$$

Pattern 10. Instead of (8) we can also write 1 as

$$
1=\frac{\left(\sqrt{\left(3^{2}+5^{2}\right)}+5\right)\left(\sqrt{\left(3^{2}+5^{2}\right)}-5\right)}{3^{2}}
$$

Thus the analogous solutions to (1) are agreed for the choice $a=3 A, b=3 B$ by

$$
\begin{aligned}
x & =3^{2}\left[(34) A^{2}-B^{2}\right]+3 \\
y & =3\left[5\left((34) A^{2}+B^{2}\right)+2(34) A B\right]-5 \\
z & =3\left[(34) A^{2}+B^{2}+10 A B\right] .
\end{aligned}
$$

Note 4. Equation (8) can be write as

$$
1=\frac{\left(-\sqrt{\left(3^{2}+5^{2}\right)}+5\right)\left(-\sqrt{\left(3^{2}+5^{2}\right)}-5\right)}{3^{2}}
$$

Proceeding as on top of, we get

$$
\begin{aligned}
& x=3^{2}\left[(34) A^{2}-B^{2}\right]+3 \\
& y=3\left[5\left((34) A^{2}+B^{2}\right)-2(34) A B\right]-5 \\
& z=3\left[10 A B-(34) A^{2}-B^{2}\right] .
\end{aligned}
$$

## III. Conclusion

The ternary quadratic Diophantine equations are prosperous in diversity. One possibly will search for further choices of Diophantine equations to discover their consequent integer solutions.

## 1112

## References

[1] Ivan Niven, Herbert S. Zuckermann and Hugh L. Montgomery, An Introduction to the Theory of Numbers, John Wiley and Sons Inc., New York, 2004.
[2] L. E. Dickson, History of Theory of Numbers, Vol.2, Chelsea Publishing Company, New York, 1952.
[3] Titu Andreescu and Dorin Andrica, An Introduction to Diophantine Equations, Springer Publishing House, 2002.
[4] Manju Somanath, J. Kannan and K. Raja, Lattice points of an infinite cone $x^{2}+y^{2}=85 z^{2}$, International Journal of Recent Innovation Engineering and Research 1(5) (2016), 14-16.
[5] M. A. Gopalan, Manju Somanath and K. Geetha, Onternary quadratic diophantine equation $z^{2}=50 x^{2}+y^{2}$, International Journal for Research in Emerging Science and Technology 3(3) (2016), 644-648.
[6] M. A. Gopalan, Manju Somanath and K. Geetha, Onternary quadratic Diophantine equation $z^{2}=7 x^{2}+9 y^{2}$, Bulletin of Mathematics and Statistics Research 2(1) (2014), 18.
[7] Manju Somanath, G. Sangeetha and M. Gopalan, A on the ternary quadratic equation $5\left(x^{2}+y^{2}\right)-9 x y=19 z^{2}$, IJIRSET 2(6) (2013), 2008-2010.
[8] J. Kannan, Manju Somanath and K. Raja, Solutions of negative Pell equation involving twin prime, JP Journal of Algebra, Number Theory and Applications 40(5) (2018), 869874.
[9] Manju Somanath, J. Kannan and K. Raja, On a class of solutions for hyperbolic Diophantine equation, International Journal of Applied Mathematics 32(3) (2019), 443449.

